
Soustava dvou lineárních rovnic s dvěma neznámými 
 

1) 154yx =++  
 1132y-3x =+  
 

2) 43-h-2g =  
 15-2hg =+  
 

3) 93-v2u =+  
 81-2v-7u =  
 

4) 152n4m =++  
 -79-n2m- =+  
 

5) 112-zx =+  
 32-z-x =  
 

6) 062u-3p =+  
 -46-2u-p =  
 

7) 145t-s =+  
 11-8t-s =  
 

8) -58-k5d =+  
 192k-8d- =+  
 

9) -124-2j i =+  
 776j3i- =++  
 

10) 1h-3k =  
 69hk =++  
 

11) 65t - e =  
 72t 9e =+  
 

12) 816ku =++  
 655k-6u =+  
 

13) 1722b-5o =+  
 72-b- 4o =  
 

14) 44 4v-2m =+  
 55 9v5m =++  
 

15) 19g  2q =++  
 -19-2gq =+  
 

16) 45fa =++  
 612f-a =+  
 

17) 1574i - w =+  
 7  74iw =++  
 

18) 11 7 8d- 6c =+  
 9  7d4 -3c =+  
 

19) 9  1f 4u =++  
 2-  9- 2fu- =+  
 

20) 15  9u r =++  
 -111-2u-3r- =  
 

21) 35-5e3j =+  
 1-  3- 3e-5j =  
 

22) 13  123w-4p =+  
 20  2-w2p3 =+  
 

23) 5  4 - 2zx =+  
 3-  9 - zx =+  
 

24) 2 1-2h  -k =  
 -23-h2k =+  
 

25) 127-k6f =+  
 2133k5f =++  
 

26) 63pa =++  
 43p - a =+  
 

27) 893u-4t =+  
 352ut2 =++  
 

28) 434mn =++  
 868m2n =++  
 

29) -56zq =++  
 16z-q =+  
 

30) 23b-u3 =+  
 9-23b-u =+  
 

31) -39-8v5k =+  
 242v3k =++  
 

32) 55-2a4k =+  
 2-2-a3r- =+  
 

33) 48-2t5f =+  
 2-124-t415f =+  
 

34) 168-2k10p =+  
 2-8-12a-15p =  
 

35) 15  9n 3 p =++  
 19  95n  3p =++  
 

36) 1  9-u87z =+  
 15-  99n-6p =+  
 

37) 25  22 c31-21q =+  
 209-5c2-23g =  
 

38) 15  22h 31-35s =+  
 2511-12h- 20s =  
 

39) 2222p31-12o =+  
 -1111-6p-5o =  
 

 


